

Pages 1053-1076 In this issue ... Page Legislative Branch **Legislative Administrative Services** Rates **Pooled Money Investment Board** Notices **Secretary of State** Kansas Guardianship Program Notice of meeting \_\_\_\_\_\_\_1056 **Kansas State Board of Technical Professions Kansas Water Authority** Notice of Meeting \_\_\_\_\_\_\_1056 **Kansas Department of Transportation** Wichita State University Kansas Governor's Grants Program Notice of available grant funding from the Federal Victims of Crime Act Victim Kansas Department of Agriculture - Division of Conservation Kansas Department of Administration - Office of Procurement and Contracts Kansas Department for Aging and Disability Services Request for comments on Interim Care Facility for Individuals with Intellectual Disabilities **Bond Sales** City of Maize, Kansas Notice of intent to seek private placement general obligation refunding and improvement bonds.......1060 City of Caldwell, Kansas City of St. George, Kansas City of Colby, Kansas City of Wichita, Kansas (continued)

#### **Executive Branch**

Executive Dialicit	
Office of the Governor Executive Directive No. 19-506, authorizing expenditure of federal funds	1062
Regulations	
Kansas Lottery	
	.1063
Index to administrative regulations	.1072

#### State of Kansas

# Legislative Administrative Services

#### **Interim Committee Schedule**

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Aug. 26	548-S	9:00 a.m.	Robert G. (Bob) Bethell Joint Committee on Home and Community Based Services and KanCare Oversight	Presentations on KanCare from individuals, providers, and organizations; KanCare Ombudsman report; Medicaid Inspector General report; KanCare Meaningful Measures Collaborative update; Responses from State agencies and Managed Care Organizations (MCOs) on unresolved issues; Brain Injury Waiver delays; Assessment and Person-Centered Service Plan Development for Home and Community Based Services (HCBS) Waiver Services and Centers for Medicare and Medicaid Services Conflict of Interest Ruling.

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2019. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs\_kansas\_register.asp.

#### Published by

Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 https://sos.kansas.gov



Register Office: 1st Floor, Memorial Hall 785-368-8095 Fax 785-296-8577 kansasregister@ks.gov

Date	Room	Time	Committee	Agenda
Aug. 27	548-S	9:00 a.m.	Robert G. (Bob) Bethell Joint Committee on Home and Community Based Services and KanCare Oversight	Kansas Department of Health and Environment (KDHE) update on KanCare,1115 Waiver, OneCare Kansas, Report on Prior Authorization Project, Psychiatric Residential Treatment Facility (PRTF) Quarterly Report, Clearinghouse Contract, Aetna Corrective Action Plan, MCOs' financial status, Medicaid Eligibility backlog, KDHE Clearinghouse staffing, Transition of Medicaid application eligibility processing; KDADS update on HCBS, Waiting Lists, HCBS Waiver renewals, Quarterly Report on savings transferred to HCBS Savings Fund and Fund balance, Intellectual/Developmental Disability HCBS Waiver update, Long-Term Services and Supports, Update on monthly brainstorming meeting, Long-Term Care, Receiverships, Behavioral Health, Report on PRTF study, Commission on State Hospitals, State Hospitals; MCO presentations; Value-Added services.
Aug. 28	582-N	1:00 p.m.	Kansas Criminal Justice Reform Commission	Overview of 2019 HB 2290; Update on current criminal justice reform efforts in Kansas; Review of Kansas Open Meetings Act and Kansas Open Records Act; Committee organization; Election of officers.
Aug. 28	Legislative Division of Post Audit, 800 SW Jackson, 12th Floor, Conference Room #1	10:00 a.m.	Legislative Division of Post Audit (Executive Committee)	LPA 2020-21 Budget; proposed legislation; rules changes; and the Post Auditor evaluation process.
Sept. 9-11	_		Mental Health Bus Tour	Touring facilities providing mental health services in Topeka, El Dorado, and Wichita, KS (9th); Newton, Hutchinson, Stafford, and Larned, KS (10th); and Hays, Salina, Manhattan, and Topeka, KS (11th).
Sept. 12	548-S	9:00 a.m.	Special Committee on Financial Institutions and Insurance	Healthcare benefit topic: Overview of the State Employee Health Plan; presentations on cost containment strategies; and discussion and possible recommendations.

Doc. No. 047433

Doc. No. 047422

#### State of Kansas

# **Pooled Money Investment Board**

## **Notice of Investment Rates**

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

# Effective 8-26-19 through 9-1-19

Term	Rate
1-89 days	2.12%
3 montȟs	1.97%
6 months	1.88%
12 months	1.75%
18 months	1.63%
2 years	1.56%

Scott Miller Director of Investments

#### **State of Kansas**

# Secretary of State

## **Notice of Forfeiture**

In accordance with Kansas statutes, the business entities organized under the laws of Kansas and the foreign business entities authorized to do business in Kansas that are listed in the linked document were forfeited during the month of July 2019 for failure to timely file an annual report and pay the annual report fee. The lists of forfeited domestic and foreign business entities can be found at the following link under the August 29, 2019 issue of the Kansas Register.

# https://www.sos.ks.gov/pubs/pubs\_kansas\_register.asp

**Please Note:** The following list represents business entities forfeited in July. Any business entity listed may have filed for reinstatement and be considered in good (continued)

Tom Day, Director

Legislative Administrative Services

standing. To check the status of a business entity go to the Kansas Business Center's Business Entity Search Station at https://www.kansas.gov/bess/flow/main?execution=e2s4 (select Business Entity Database) or contact the Business Services Division at 785-296-4564.

Scott Schwab Secretary of State

Doc. No. 047423

# **State of Kansas**

# Kansas Guardianship Program

#### **Notice of Meeting**

The Kansas Guardianship Program will conduct its governing board meeting from 1:30 p.m. to 3:30 p.m. Thursday, September 5, 2019, at Capitol Strategies, 212 SW 8th Ave., Suite 200, Topeka, KS 66603. For more information, call 785-587-8555.

Jean Krahn Executive Director

Doc. No. 047434

#### State of Kansas

# **Board of Technical Professions**

#### **Notice of Meeting**

The Kansas State Board of Technical Professions board meeting will be held at 10:00 a.m. Friday, September 20, 2019, at the Landon State Office Building, 900 SW Jackson, Suite 507, Topeka, Kansas. All meetings are open to the public. For more information call 785-296-3053.

Larry G. Karns Executive Director

Doc. No. 047424

## State of Kansas

# **Kansas Water Authority**

#### **Notice of Meeting**

The Kansas Water Authority will meet from 1:00 p.m. to 4:00 p.m. Tuesday, September 3, 2019 and from 8:00 a.m. to 12:00 p.m., Wednesday, September 4, 2019, at the Northwest Kansas Technical College, 201 NW 2nd St., Goodland, Kansas. Please note this is Mountain Time. For more information, visit http://www.kwo.ks.gov.

Katie Patterson-Ingels Communications Director

Doc. No. 047438

#### State of Kansas

# **Department of Transportation**

#### **Notice to Contractors**

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at <a href="https://kdotapp.ksdot.org/Proposal/Proposal.aspx">https://kdotapp.ksdot.org/Proposal/Proposal.aspx</a>. The website will allow the contractor to request approval from KDOT to bid as a prime contrac-

tor and be included on the "Bid Holders List," or to be included on the "NonBid Holders List" as a subcontractor/ supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation Standard Specifications for State Road and Bridge Construction.

KDOT will only accept electronic internet proposals using the Bid Express website at <a href="http://www.bidx.com">http://www.bidx.com</a> until 1:00 p.m. (CST) September 18, 2019. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 SW Harrison, Topeka, Kansas, at 1:30 p.m. (CST) September 18, 2019. An audio broadcast of the bid letting is available at <a href="http://www.ksdot.org/burconsmain/audio.asp">http://www.ksdot.org/burconsmain/audio.asp</a>.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

#### District One - Northeast

**Brown** – 75-7 KA-5285-01 – U.S. 75, from south of the Fairview Interchange north to the U.S. 75/K-246 junction, rumble strip installation, 7.1 miles. (State Funds)

**Johnson** – 56-46 KA-2745-02 – U.S. 56 and 199th Street in Edgerton, intersection improvements, 1.0 mile. (Federal Funds)

**Pottawatomie** – 75 C-4922-01 – Bridge on Parallel Road over tributary of Mud Creek located 3.0 miles north of Duluth, bridge replacement, 0.1 mile. (Federal Funds)

**Riley** – 81 Ŭ-2335-01 – City of Manhattan – Safe Routes to School/Phase Two, pedestrian and bicycle paths. (Federal Funds)

**Wyandotte** – 70-105 KA-4946-01 – Reinforced concrete box culvert #534 on I-70 over Mill Creek Drainage located 3.75 miles east of I-435, culvert, 0.1 mile. (Federal Funds)

#### District Two - North Central

**Cloud** – 15 KA-5302-01 – K-194, from just north of the railroad tracks at the north city limits of Simpson north to the U.S. 24/K-194 junction and U.S. 24, from the Mitchell/Cloud county line east to the U.S. 81/U.S. 24 junction, milling and overlay, 16.8 miles. (State Funds)

**Dickinson** – 70-21 KA-5410-01 – Pavement marking on I-70, pavement marking, 23.5 miles. (Federal Funds)

**Ellsworth** – 14-27 KA-5295-01 – K-14, from the K-140/K-14 junction north to the west I-70/K-14 junction, milling and overlay, 7.5 miles. (State Funds)

**Lincoln** – 53 KA-5298-01 – K-18, from the east city limits of Lincoln east to the Lincoln/Ottawa county line and K-252, from the K-18/K-252 junction south to the north city limits of Beverly, surface recycle, 13.2 miles. (State Funds)

**Ottawa** – 18-72 KA-5299-01 – K-18, from North 170th Road east to the Dickinson/Ottawa county line, milling and overlay, 14.7 miles. (Federal Funds)

**Republic** – 79 C-4923-01 – Bridge located 1.0 mile east of Warwick, bridge replacement, 0.1 mile. (Federal Funds)

**Saline** – 70-85 KA-5408-01 – Pavement marking on I-70, pavement marking, 6.3 miles. (Federal Funds)

#### **District Three - Northwest**

**Logan** – 25-55 KA-5305-01 – K-25, from the east U.S. 40/K-25 junction north to the Thomas/Logan county line, milling and overlay, 2.3 miles. (Federal Funds)

**Phillips** – 09-74 KA-5307-01 – K-9, from the Norton/Phillips county line east to the K-9/U.S. 183 junction, milling and overlay, 17.5 miles. (Federal Funds)

**Phillips** – 09-74 KA-5308-01 – K-9, from the K-9/U.S. 183 junction east to approximately 618 feet west of Kirwin, milling and overlay, 10.3 miles. (State Funds)

**Phillips** – 09-74 M-0072-01 – Stockpile for project on K-9, from the Norton/Phillips county line east to the K-9/U.S. 183 junction, stockpile bituminous material, 17.5 miles. (State Funds)

**Sherman** – 91 KA-5406-01 – Pavement marking on U.S. 24B and K-27, pavement marking, 0.9 mile. (Federal Funds)

**Sherman** – 70-91 KA-5407-01 – Pavement marking on I-70, pavement marking, 12.8 miles. (Federal Funds)

Smith – 09-92 KA-3100-01 – Bridge #033, on K-9 over Cedar Creek located 8.14 miles east of the Smith/Phillips county line, bridge replacement. (Federal Funds)

**Thomas** – 25-97 KA-5306-01 – K-25, from the Thomas/ Logan county line north to the south city limits of Colby, milling and overlay, 15.5 miles. (Federal Funds)

**Wallace** – 40-100 KA-5303-01 – U.S. 40, from the east city limits of Sharon Springs east to the Wallace/Logan county line, milling and overlay, 15.4 miles. (Federal Funds)

**Wallace** – 40-100 M-0071-01 – Stockpile for project on U.S. 40 from the east city limits of Sharon Springs east to the Wallace/Logan county line, stockpile bituminous material, 15.4 miles. (State Funds)

#### **District Four - Southeast**

**Anderson** – 59-2 KA-4812-02 – U.S. 59, from the north city limits of Garnett north to the Anderson/Franklin county line (part two), guard fence, 6.8 miles. (Federal Funds)

**Crawford** – 19 C-4911-01 – Bridge over Hickory Creek on 580th Street between 20th and 30th Streets, bridge replacement, 0.2 mile. (Federal Funds)

**Crawford** – 69-19 KA-1554-03 – U.S. 69, from approximately 1,056 feet north of the U.S. 69/K-47 (620th Avenue) junction north to 3 miles north of the north Arma city limits, grade, bridge and surfacing, 6.2 miles. (Federal Funds)

#### **District Five - South Central**

**Barton** – 281-5 KA-5314-01 – U.S. 281, from the Stafford/Barton county line north to the south city limits of Great Bend, surface recycle, 6.6 miles. (Federal Funds)

**Butler** – 8 N-0655-01 – Bridge on 159th Street over the KTA, and 159th Street from the bridge to West Central Avenue in Andover, grade and bridge, 0.3 mile. (Federal Funds)

**Comanche** – 183-17 KA-5310-01 – U.S. 183, from the U.S. 183/U.S. 160 junction north to the Comanche/Kiowa county line, milling and overlay, 7.1 miles. (State Funds)

**Kingman** – 48 C-4915-01 – Bridge over South Fork of Ninnescah River on Southeast 80th Avenue located 0.5 mile south and 2.2 miles west of Murdock, bridge replacement, 0.2 mile. (Federal Funds)

**Kingman** – 14-48 KA-5311-01 – K-14, from the K-14/K-42 junction north 12.1 miles to the start of the concrete pavement in Kingman, milling and overlay, 12.1 miles. (State Funds)

**Kiowa** – 183-49 KA-5309-01 – U.S. 183, from the Comanche/Kiowa county line north to the U.S. 183/U.S. 54 junction, milling and overlay, 15.5 miles.(State Funds)

**Reno** – 61-78 KA-5405-01 – Pavement marking on K-61, pavement marking, 8.6 miles. (Federal Funds)

**Sedgwick** – 135-87 KA-5043-01 – Bridge #012 (Northbound), on I-135 located 0.02 mile north of K-15, bridge repair. (Federal Funds)

**Sedgwick** – 87 TE-0434-01 – Derby to Mulvane pathway, pedestrian and bicycle paths, 2.0 miles. (Federal Funds)

**Stafford** – 281-93 KA-5312-01 – U.S. 281, from the U.S. 281/K-19 junction north to the Stafford/Barton county line, surface recycle, 7.1 miles. (Federal Funds)

#### **District Six – Southwest**

**Finney** – 28 KA-5293-01 – U.S. 83, beginning at old U.S. 83 north to the east U.S. 50/U.S. 83 junction and U.S. 83B from the U.S. 83B/U.S. 83 junction north to the south city limits of Garden City, milling and overlay, 9.7 miles. (State Funds)

**Greeley** – 96-36 KA-5316-01 – K-96, from the Kansas/ Colorado state line east to the west city limits of Tribune, milling and overlay, 15.6 miles. (Federal Funds)

**Hamilton** – 27-38 KA-5319-01 – K-27, from the Stanton/ Hamilton county line north to the east U.S. 50/K-27 junction, surface recycle, 16.9 miles. (Federal Funds)

**Stanton** – 27-94 KA-5315-01 – K-27, beginning 500 feet north of the south U.S. 160/K-27 junction north to the Stanton/Hamilton county line, surface recycle, 11.9 miles. (Federal Funds)

Julie Lorenz Secretary

Doc. No. 047409

# State of Kansas

## Wichita State University

# Notice of Intent to Lease Land and/or Building Space

Public notice is hereby given that Wichita State University (WSU) intends to lease available land and building space. The university will consider leasing such prop(continued)

erty and/or space to those whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, or otherwise provide supporting services and amenities to the campus community (such as restaurants, retail establishments, financial institutions, etc.). Because tenant use must be a good fit with the university's educational mission and available space, please be prepared to provide the following information: (1) name; (2) square footage of space needs and desired lease term and location; (3) equipment, design, or other special needs; (4) description of anticipated use; and (5) the anticipated benefits to the university, its students, and the WSU community (e.g. applied learning, joint research, faculty start-up, etc.). The university will consider serious offers and inquiries from any financially qualified individual, group, organization, or company. If interested, please contact Vice President for Research & Technology Transfer, Dr. John Tomblin, john.tomblin@wichita.edu or Property Manager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Administration and Finance
Wichita State University

Doc. No. 046691

# State of Kansas

# Wichita State University

#### Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) intends to directly lease, and indirectly sublease through its affiliate corporation Wichita State Innovation Alliance, Inc., subject to all required state approvals, an approximate ground area consisting of 150,000 square feet or less with the potential for expansion for parking, for the private development of one or more partnership buildings. This private development shall be located west of Oliver, between 17th and 18th streets, on the Wichita State University main campus. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, and specifically an emphasis on supporting and growing advanced laboratories for research, testing, and innovation in data infrastructure/ storage, video surveillance storage, IOT, security, analytics, visualization/modeling, and machine learning/AI. The university intends to lease such ground for any period of time up to sixty-five years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential

ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Rental rate shall be assessed per leased or leasable square foot of the building but is negotiable based on term of lease and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact Vice President for Research and Technology Transfer, Dr. John Tomblin, john.tomblin@wichita.edu or University Property Manager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Finance and Administration Wichita State University

Doc. No. 047371

#### State of Kansas

# Governor's Grants Program

# Notice of Available Grant Funding from the Federal Victims of Crime Act Victim Assistance Grant Program

Grant funds are available from the Federal Victim Assistance of Crime Act (VOCA) Victim Assistance grant program for the funding period of October 1, 2019, through September 30, 2020, to eligible applicants. The purpose of this grant program is to fund public agencies, American Indian tribe/organizations, nonprofit, community, and faith-based organizations, including underserved and culturally specific populations providing direct assistance to crime victims. For the purpose of these grant program guidelines, direct services are defined as those efforts that (1) respond to the emotional and physical needs of crime victims; (2) assist primary and secondary victims of crime to stabilize their lives after a victimization; (3) assist victims to understand and participate in the criminal justice system; and (4) provide victims of crime with a measure of safety such as boarding up broken windows and replacing or repairing locks. A crime victim is a person who has suffered physical, sexual, financial, or emotional harm as a result of the commission of a crime.

All grant applications must be submitted via the Governor's Grant Portal by 11:59 p.m., September 24, 2019. To quickly locate this specific grant opportunity in the Grant Portal, use "CRIME VICTIM" for the keywords in your search or access the 2020 VOCA Solicitation at www.grants.ks.gov/opportunities/federal-victims-of-crime-act-victim-assistance-grant-(voca). Please contact the Kansas Governor's Grants Program at 785-291-3205 with questions.

Juliene Maska Administrator

Doc. No. 047426

#### State of Kansas

# Department of Agriculture Division of Conservation

# Notice of Authorization to Proceed with On-Call Engineering Services

Watershed Institute, Inc. has been identified as a qualified entity to provide certain on-call engineering services to the Kansas Department of Agriculture, Division of Conservation. Pursuant to its current "Agreement for On-Call Engineering Services" with Watershed Institute, Inc., the Kansas Department of Agriculture, Division of Conservation issued Amendment No. 1 to its original authorization to proceed on Contract No. SbPP-2018-3 for engineering design and construction oversight services on Site Nos. C100, C102, C104, C105, C112, and C130 in the Cottonwood River watershed in Lyon and Chase counties. Amendment No. 1 to the original authorization to proceed was issued on July 23, 2019 for a total approved cost of \$33,047.44.

Additional information about the Division of Conservation's Streambank Protection Program is available from the program manager by phone at 785-564-6624 or electronically at tim.mccoy@ks.gov.

Rob Reschke, Executive Director Division of Conservation

Doc. No. 047425

#### State of Kansas

# Department of Administration Office of Procurement and Contracts

#### **Notice to Bidders**

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

09/10/2019	EVT0006859	Pull Type Road Grader
09/10/2019	EVT0006860	Positive Meter Planter
09/10/2019	EVT0006871	1¼" Washed Road Rock
09/12/2019	EVT0006874	Replacement Windows –
07/12/2017	2110000071	Ellsworth Correctional Facility
09/18/2019	EVT0006862	Coffee Shop Equipment
09/19/2019	EVT0006865	Insurance – Vehicle and Auto
		Liability
09/19/2019	EVT0006875	Newspaper Database
09/20/2019	EVT0006872	Law Enforcement Liaison
09/24/2019	EVT0006857	Portable Variable Message Board
09/24/2019	EVT0006861	Trailer-mounted Hot Water
		Pressure Washer System
09/25/2019	EVT0006873	Vending Machine Repair
		Services
09/26/2019	EVT0006868	Snow Trucks
09/26/2019	EVT0006869	Ford F-350 Trucks
09/27/2019	EVT0006877	Web System for Postsecondary
		School Accreditation
10/08/2019	EVT0006858	KanCare Eligibility
		Clearinghouse
		6

The above referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations

# Legal Notice State of Kansas

# Request for Proposals for Leased Office Space

The State of Kansas is accepting electronic or written proposals for approximately 6,500 useable square feet of office space to house the North Central District Office of the Kansas Department of Health and Environment in Salina, Kansas. The information pertaining to this space search is available at:

http://www.admin.ks.gov/offices/ofpm/real-estate-leasing/bid-solicitations-for-leased-space

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations

09/11/2019	A-013799	Adjutant General's Department;
		South Open Bay Barracks Salina
		Building #322 Fitness Center
		and Showers
09/18/2019	A-013729	Adjutant General's Department;
		Wichita North Caging and
		Arms Vault Addition
09/19/2019	A-013648	KSU Mosier Hall Pet Health
		and Auditorium

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Office of Procurement and Contracts

Doc. No. 047429

# State of Kansas

# Department for Aging and Disability Services

# **Request for Comments**

The following Interim Care Facility for Individuals with Intellectual Disabilities (ICF/IID) cost center limits are being set forth for public comment. Comments should be sent to Melissa Warfield, Director of Fiscal and Program Evaluation, Financial and Information Services, 503 Kansas Ave., Topeka, KS 66603. The comment period will expire 30 days from the publication of this notice.

K.A.R. 30-10-214 provides for the annual review and adjustment of Class II ICF/IID cost center limits, approved by the secretary of the Kansas Department for Aging and Disability Services (KDADS) or designee, based on current cost information supplied by the enrolled, licensed providers of ICF/IID services, and formula set forth in the Kansas State Medicaid Plan (Attachment 4.19-D, Part II, Subpart O, page 1). The formula is as follows: Total allowable costs, including an inflation factor, are compared to the amount to be reimbursed under the current limits.

The formula threshold requires that 60 percent of all ICF/IIDs are reimbursed 90 percent of their allowable (continued)

costs. If less than 60 percent of the facilities are reimbursed 90 percent of their allowable costs, then the cost center limits are adjusted until the threshold is met. The inflation factor is based on the IHS Global Insight, National Skilled Nursing Facility Market Basket Without Capital Index (IHS Index).

To determine where to make the adjustments, two major cost centers are analyzed according to the following prescription:

- Administrative costs are based on facility size
- Habilitation costs are based on facility size and level of care (LOC)

The cost analysis for 2018 demonstrates 90.9 percent of the Class II ICF/IIDs are being reimbursed 90 percent or more of their allowable costs, once inflation factors are applied. Therefore, adjustments through rebasing are not required for rates effective October 1, 2019.

#### Recommendations

Based on cost report analysis and available funding, cost center limits for Class II ICF/IIDs are as follows: Facility

Size	Level I	Level II	Level III	Level IV	Level V
A. +16 beds	\$162.86	\$154.71	\$146.98	\$139.64	\$ 132.65
B. 9-16 beds	\$204.61	\$194.40	\$184.68	\$175.46	\$ 166.67
C. 4-8 beds	\$239.39	\$227.42	\$216.04	\$205.24	\$ 194.98

Administrative per diem limits are based on the size of the facility, using the same classes as referred to above.

#### **Administrative Per Diem Limits**

A. \$12.92 B. \$30.68 C. \$36.18

> Laura Howard Secretary

Doc. No. 047428

(Published in the Kansas Register August 29, 2019.)

# City of Maize, Kansas

# Notice of Intent to Seek Private Placement General Obligation Refunding and Improvement Bonds, Series 2019A

Notice is hereby given that the City of Maize, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,000,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated August 19, 2019.

Jocelyn Reid Clerk

Doc. No. 047436

(Published in the Kansas Register August 29, 2019.)

# City of Caldwell, Kansas

# Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2019

Notice is hereby given that the City of Caldwell, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$500,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated August 21, 2019.

Kristin L. Hutsler Clerk

Doc. No. 047435

(Published in the Kansas Register on August 29, 2019)

# City of St. George, Kansas

# Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2019A

Notice is hereby given that the City of St. George, Kansas (the "Issuer"), proposes to seek a private placement of the above-referenced general obligation bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,285,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the adoption of an ordinance and resolution by the governing body of the Issuer authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated August 27, 2019.

Elizabeth Wagoner City Clerk

Doc. No. 047427

(Published in the Kansas Register August 29, 2019.)

# City of Colby, Kansas

Summary Notice of Bond Sale \$12,000,000\* General Obligation Bonds, Series 2019

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

#### Bids

Subject to the Notice of Bond Sale dated August 19, 2019 (the "Notice"), facsimile and electronic bids will be received on behalf of the Director of Finance of the City of Colby, Kansas (the "Issuer") in the case of facsimile bids, at the address set forth below, and in the case of electronic bids, through PARITY® until 11:00 a.m. (CST) September 16, 2019, for the purchase of the above-referenced bonds

(the "Bonds"). No bid of less than 105% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

#### **Bond Details**

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated October 1, 2019, and will become due on December 1 in the years as follows:

Year	Principal Amount*	Year	Principal Amount*
2020	\$570,000	2028	\$835,000
2021	650,000	2029	855,000
2022	675,000	2030	885,000
2023	705,000	2031	905,000
2024	735,000	2032	920,000
2025	760,000	2033	945,000
2026	785,000	2034	965,000
2027	810,000		

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on June 1 and December 1 in each year, beginning on June 1, 2020.

#### **Book-Entry-Only System**

The Bonds shall be registered under a book-entry-only system administered through DTC.

# Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

#### **Good Faith Deposit**

Each bid shall be accompanied (in the manner set forth in the Notice) by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$240,000.

#### **Delivery**

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about October 1, 2019, to DTC for the account of the successful bidder.

# **Assessed Valuation and Indebtedness**

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2019 is \$59,339,582. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$13,512,000.

# **Approval of Bonds**

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

#### **Additional Information**

Additional information regarding the Bonds may be

obtained from the undersigned or from the Municipal Advisor at the addresses set forth below:

# Issuer – Facsimile Bid and Good Faith Deposit Delivery Address

City of Colby, Kansas

Attn: Debbie K. Zerr, Director of Finance

585 N. Franklin Ave.

Colby, KS 67701-2399

785-460-4400

Fax: 785-460-4444

finance@cityofcolby.com

# **Municipal Advisor**

Froggatte & Company Attn: Theron Froggatte 320 N. Main, Suite 200 Wichita, KS 67202 316-644-1236 Fax: 316-264-7999 tfroggatte@yahoo.com

Dated August 19, 2019.

Debbie K. Zerr Director of Finance

\* Subject to change, see the Notice Doc. No. 047430

(Published in the Kansas Register August 29, 2019.)

# City of Wichita, Kansas

Summary Notice of Bond Sale \$38,925,000\* General Obligation Bonds, Series 823

\$12,300,000\* General Obligation Bonds, Series 824

\$13,330,000\* General Obligation Bonds, Series 963

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

#### **Bids**

Subject to the Official Notice of Bond Sale, dated August 20, 2019, separate electronic bids for the purchase of each series of the above-referenced bonds (collectively, the "Bonds") of the City of Wichita, Kansas (the "City") herein described will be received by the Director of Finance of the City via PARITY® until 10:00 a.m. (CST) (the "Submittal Hour") Thursday, September 12, 2019. No bid of less than 100% of the principal amount of each series of the Bonds and accrued interest thereon to the date of delivery will be considered.

#### **Bond Details**

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated October 1, 2019 (the "Dated Date"), and will become due in the years as follows:

#### Series 823 Bonds

The Series 823 Bonds will become due in principal installments as follows:

(continued)

Payment Date (December 1)	Principal Amount*	Payment Date (December 1)	Principal Amount*
2020	\$3,560,000	2025	\$3,915,000
2021	3,710,000	2026	3,975,000
2022	3,755,000	2027	4,040,000
2023	3,810,000	2028	4,110,000
2024	3,860,000	2029	4,190,000

#### Series 824 Bonds

The Series 824 Bonds will become due in principal installments as follows:

Payment Date (June 1)	Principal Amount*	Payment Date (June 1)	Principal Amount*
2020	\$605,000	2030	\$805,000
2021	635,000	2031	825,000
2022	655,000	2032	850,000
2023	665,000	2033	875,000
2024	685,000	2034	900,000
2025	700,000	2035	210,000
2026	720,000	2036	210,000
2027	740,000	2037	220,000
2028	765,000	2038	225,000
2029	780,000	2039	230,000

#### Series 963 Bonds

The Series 963 Bonds will become due in principal installments as follows:

Payment Date (December 1)	Principal Amount*	Payment Date (December 1)	Principal Amount*
2020	\$100,000	2027	\$ 860,000
2021	150,000	2028	940,000
2022	390,000	2029	1,380,000
2023	490,000	2030	1,530,000
2024	575,000	2031	1,670,000
2025	665,000	2032	1,830,000
2026	760,000	2033	1,990,000

The Bonds will bear interest from the Dated Date at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on June 1 and December 1, beginning on June 1, 2020 (the "Interest Payment Dates").

#### **Book-Entry-Only System**

The Bonds shall be registered under a book-entry-only system administered through DTC.

#### **Paying Agent and Bond Registrar**

Treasurer of the State of Kansas, Topeka, Kansas.

#### Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the City in an amount equal to 2% of the principal amount of the applicable series of the Bonds.

The City will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about October 15, 2019 to DTC for the account of the successful bidder.

#### Assessed Valuation and Indebtedness

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2019 is \$3,923,218,021. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$704,265,000, which includes the Bonds being sold, the City's temporary notes which will be issued on the Closing Date, less the City's previously issued temporary notes to be retired out of proceeds of the Bonds and other funds on the Closing Date.

## **Approval of Bonds**

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the City, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

#### Additional Information

Additional information regarding the Bonds, the delivery of the Deposit, and notification regarding the same may be obtained from the Department of Finance, 12th Floor, City Hall, 455 N. Main, Wichita, KS 67202-1679, or by contacting:

Ms. Shawn Henning Director of Finance 316-268-4300 Fax: 316-219-6244 shenning@wichita.gov

Ms. Cheryl Busada **Debt Coordinator** 316-268-4143 Fax: 316-219-6216 cbusada@wichita.gov

Dated August 20, 2019.

Cheryl Busada **Debt Coordinator** 

#### State of Kansas

#### Office of the Governor

# Executive Directive No. 19-506 Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the Secretary of the Kansas Department of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 189(b) of House Substitute for SB 25, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2020 through FY 2024 of monies in the federal fund entitled "Preventing Maternal Deaths Fund."

<sup>\*</sup>All subject to change, see Notice of Bond Sale dated August 20, 2019. Doc. No. 047432

I have conferred with the Director of the Budget and
members of my staff, and I have determined that the
guidelines set forth in KSA 75-3711 and 75-3711c have
been applied and that none of the foregoing actions ex-
ceeds the limitations contained therein.

Dated August 20, 2019.

Laura Kelly
Governo

Doc. No. 047431

#### State of Kansas

# **Kansas Lottery**

# **Temporary Administrative Regulations**

# Article 4.—INSTANT GAMES AND DRAWINGS

- **111-4-3577.** "Power 5s" instant ticket lottery game number 123. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Power 5s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3577.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON
22	TWYTW
23	TWYTR
24	TWYFR
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
36	THYSX

37	111151
38	THYET
39	THYNI
40	FORTY
5	WIN\$
5X	WINX5

THYSV

**Captions** 

37

Play Symbols – Power \$25

Symbol of a ring

Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
$$15^{.00}$	FIFTN\$
\$20.00	TWENTY
\$25.00	TWENFIV
\$50.00	FIFTY
\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$25,000	25-THOU

1 1my 6 y 111 x 616 1 6 1 0 1 0 1 0 1	Op 1
Spot (2 spots)	
\$25	WIN\$25
Symbol of a cherry	CHRY
Symbol of a camera	CAMERA
Symbol of a wishbone	BONE
Symbol of a number 7	SEVN
Symbol of a crown	CROWN
Symbol of an emerald	EMRLD
Symbol of a hat	HAT
Symbol of a key	KEY
Symbol of a nugget	NUGGET
Symbol of a cookie	COOKIE
Symbol of a star	STAR
Play Symbols – Power \$50	Captions
Spot (1 spot)	
\$50	WIN\$50
Symbol of a bell	BELL
Symbol of a chest	CHEST
Symbol of a four leaf clover	CLOVER
Symbol of a horseshoe	SHOE
Symbol of a map	MAP
Symbol of a pot	POT

- (c) For this game, a play/prize symbol shall appear in 42 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Power 5s" is a key number match game with an instant reveal, three power spot bonus areas, and multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 17 "YOUR NUMBERS" with a prize amount to the side of each of (continued)

**RING** 

the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown to the side of that number. If the player reveals a "5" symbol, the player wins the prize shown to the side of that symbol instantly. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. The ticket will also have three power spot bonus play areas. The player will scratch the "POWER SPOT" bonus play areas and if the player reveals one or more prize amount(s), the player automatically wins the amount(s) shown.

- (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$5 Ticket	Free Ticket	87,500	\$0
\$5 x 2	\$10	25,000	\$250,000
\$10	\$10	25,000	\$250,000
\$5 x 3	\$15	12,500	\$187,500
\$10 + \$5	\$15	6,250	\$93,750
\$15	\$15	6,250	\$93,750
\$5 x 4	\$20	12,500	\$250,000
\$10 x 2	\$20	6,250	\$125,000
\$20	\$20	6,250	\$125,000
\$5 x 5	\$25	2,500	\$62,500
\$15 + \$10	\$25	2,500	\$62,500
\$5 (5X)	\$25	3,750	\$93,750
\$25	\$25	3,750	\$93,750
\$5 x 10	\$50	1,250	\$62,500
\$10 x 5	\$50	1,250	\$62,500
\$25 x 2	\$50	1,250	\$62,500
\$10 (5X)	\$50	1,250	\$62,500
\$50	\$50	1,250	\$62,500
\$50 + (\$25 x 2)	\$100	75	\$7,500
\$10 (5X) x 2	\$100	<i>7</i> 5	\$7,500
\$10 x 10	\$100	75	\$7,500
\$25 x 4	\$100	75	\$7,500
\$20 (5X)	\$100	150	\$15,000
\$100	\$100	75	\$7,500
(\$100 x 2) + \$50 + (\$25 x 4) +			
(\$20 x 2) + (\$10 x 11)	\$500	7	\$3,500
\$50 x 10	\$500	8	\$4,000
\$100 (5X)	\$500	8	\$4,000
\$500	\$500	7	\$3,500
$(\$100 \times 5) + (\$50 \times 6) +$			
$(\$25 \times 4) + (\$20 \times 5)$	\$1,000	3	\$3,000
\$1,000	\$1,000	2	\$2,000
\$25,000	\$25,000	5	\$125,000
		206,815	\$2,197,500
Player Loyalty Program			\$22,000
		206,815	\$2,219,500

(j) The odds of winning a prize in this game are approximately one in 3.63. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-8-21-19, July 10, 2019.)

- **111-4-3578.** "Power 10s" instant ticket lottery game number 124. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Power 10s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3578.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
6	SIX
7	SVN
8	EGT
9	NIN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON
22	TWYTW
23	TWYTR
23 24	TWYFR
24 26	TWYSX
26 27	TWYSV
	TWYET
28	TWYNI
29	THRTY
30 31	THYON
32	THYTW
33	THYTR
34	THYFR
3 <del>4</del> 36	THYSX
	THYSV
37	THYET
38 39	THYNI
40	FORTY
41	FRYON
42 43	FRYTW FRYTR
43	FRYFR
46	FRYSX FRYSV
47	
48	FRYET FRYNI
49	FRYNI WIN\$
10 EV	WINX5
5X 10X	WINX5 WINX10
Prize Symbols	Captions
FREE	TICKET

\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$25.00	TWENFIV
\$50.00	FIFTY
\$100	ONEHUN
\$200	TWOHUN
\$500	FIVEHUN
\$1,000	ONETHO
\$5,000	FIVTHO
\$75,000	75-THOU

#### Play Symbols – Power \$25 **Captions** Spot (2 spots) \$25 WIN\$25 Symbol of a cherry **CHRY** Symbol of a camera CAMERA Symbol of a wishbone BONE Symbol of a number 7 **SEVN** Symbol of a crown **CROWN** Symbol of an emerald **EMRLD** HAT Symbol of a hat

KEY

NUGGET

**COOKIE** 

**STAR** 

Symbol of a key

Symbol of a nugget

Symbol of a cookie

Symbol of a star

#### Play Symbols – Power \$50 Captions Spot (2 spots) \$50 WIN\$50 Symbol of a bell BELL Symbol of a chest CHEST Symbol of a four leaf clover CLOVER Symbol of a horseshoe SHOE Symbol of a map MAP Symbol of a pot POT **RING** Symbol of a ring Symbol of an airplane PLANE Symbol of a rainbow **RBOW** Symbol of a heart **HEART BNNA** Symbol of a banana Play Symbols – Power \$100 **Captions**

#### Spot (1 spot) \$100 WIN\$100 Symbol of grapes **GRPE MELN** Symbol of a melon **BOW** Symbol of a bowtie Symbol of a cell phone CELL Symbol of a diamond DIMND **JOKER** Symbol of a joker Symbol of a house **HOUSE**

- (c) For this game, a play/prize symbol shall appear in 54 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Power 10s" is a key number match game with an instant reveal, five power spot bonus areas, and multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 22 "YOUR NUMBERS" with a prize amount to the side of each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-BERS," the player wins the prize shown to the side of that number. If the player reveals a "10" symbol, the player wins the prize shown to the side of that symbol instantly. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "10X" symbol, the player wins ten times the prize amount shown. The ticket will also have three power spot bonus play areas. The player will scratch the "POW-ER SPOT" bonus play areas and if the player reveals one or more prize amount(s), the player automatically wins the amount(s) shown.
  - (g) Each ticket in this game may win up to 27 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

O	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$10 Ticket	Free Ticket		\$0
\$5 x 4	\$20	10,000	\$200,000
\$10 x 2	\$20	10,000	\$200,000
\$20	\$20	5,000	\$100,000
(\$10 x 2) + \$5	\$25	5,000	\$125,000
\$5 (5X)	\$25	5,000	\$125,000
\$25	\$25	5,000	\$125,000
(\$20 x 2) + \$10	\$50	375	\$18,750
\$25 x 2	\$50	1,000	\$50,000
\$5 (10X)	\$50	375	\$18,750
\$10 (5X)	\$50	500	\$25,000
\$50	\$50	1,000	\$50,000
\$5 x 20	\$100	625	\$62,500
\$50 + (\$25 x 2)	\$100	625	\$62,500
\$25 x 4	\$100	625	\$62,500
\$10 (10X)	\$100	250	\$25,000
\$20 (5X)	\$100	250	\$25,000
\$100	\$100	125	\$12,500
$(\$20 \times 5) + (\$10 \times 10)$	\$200	50	\$10,000
$(\$50 \times 2) + (\$25 \times 4)$	\$200	50	\$10,000
\$20 (5X) + \$10 (10X)	\$200	150	\$30,000
\$20 (10X)	\$200	150	\$30,000
\$200	\$200	50	\$10,000
\$100 + (\$50 x 4) + (\$25 x 4) + (\$10 x 10)	\$500	75	\$37,500
\$100 + (\$50 x 2) + (\$25 x 2) +			
$(\$20 \times 3) + (\$10 \times 19)$	\$500	50	\$25,000
\$50 (10X)	\$500	50	\$25,000
\$100 (5X)	\$500	75	\$37,500
\$500	\$500	50	\$25,000
(\$100 x 5) + (\$50 x 4) + (\$25 x 4) + (\$20 x 6) + (\$10 x 8)	\$1,000	5	\$5,000

(continued)

**THRFOR** 

**THRFIV** 

**THRSIX** 

\$100 (10X)	\$1,000	5	\$5,000
\$200 (5X)	\$1,000	5	\$5,000
\$1,000	\$1,000	5	\$5,000
\$1,000 + (\$500 x 6) + (\$100 x 5) +			
$(\$50 \times 6) + (\$25 \times 4) + (\$20 \times 5)$	\$5,000	2	\$10,000
\$500 (10X)	\$5,000	2	\$10,000
\$1,000 (5X)	\$5,000	2	\$10,000
\$5,000	\$5,000	1	\$5,000
\$75,000	\$75,000	3	\$225,000
		86,530	\$1,807,500
Player Loyalty Program			\$18,200
		86,530	\$1,825,700

- (j) The odds of winning a prize in this game are approximately one in 3.47. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-8-21-19, July 10, 2019.)
- **111-4-3579.** "High Roller" instant ticket lottery game number **141.** (a) The Kansas Lottery may conduct an instant winner lottery game entitled "High Roller." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3579.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

ne are as follows:	
Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO

37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a die	DBL
Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
10.00	TENI¢

34

35

36

Captions
TICKET
FIVE\$
TEN\$
FIFTEEN
TWEN-FIV
FIFTY
SVTYFIV
ONE-HUN
FIVE-HUN
ONETHOU
FIVTHOU
25-THOU

- (c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "High Roller" is a key number match game with an instant win and doubler features. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a symbol of a die, the player wins double the prize amount shown below that symbol.
  - (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	1	Winners Per	
	Prize	750,000	Prize Cost
FREE TICKET	FREE TICKET	25000	\$0
\$5	\$5	86500	\$432,500
\$10	\$10	15000	\$150,000
\$5 DBL	\$10	17325	\$173,250
\$5 + \$5	\$10	15000	\$150,000
\$15	\$15	8500	\$127,500
\$5 + \$10	\$15	7500	\$112,500

**THRTHR** 

33

\$5 DBL + \$5	\$15	9000	\$135,000
\$5 x 3	\$15	8500	\$127,500
\$25	\$25	2500	\$62,500
(\$10 x 2) + \$5	\$25	3250	\$81,250
\$10 DBL + \$5	\$25	3750	\$93,750
\$5 x 5	\$25	3250	\$81,250
\$50	\$50	750	\$37,500
\$5 x 10	\$50	1000	\$50,000
\$25 DBL	\$50	1000	\$50,000
\$10 + \$25 + \$15	\$50	1000	\$50,000
\$75	\$75	500	\$37,500
\$5 x 15	\$75	500	\$37,500
\$25 DBL + \$10 + \$15	\$75	750	\$56,250
(\$5 x 11) + \$10 DBL	\$75	750	\$56,250
\$100	\$100	100	\$10,000
$(\$5 \times 14) + (\$10 \times 3)$	\$100	100	\$10,000
\$10 x 10	\$100	100	\$10,000
\$5 x 20	\$100	100	\$10,000
\$50 DBL	\$100	100	\$10,000
\$500	\$500	25	\$12,500
(\$10 x 10) + (\$25 x 4) +			
(\$50 x 6)	\$500	25	\$12,500
(\$10 x 10) + (\$75 x 2) +	<b>#=</b> 00		<b>442 5</b> 00
\$100 DBL + \$50	\$500	25	\$12,500
\$1,000	\$1,000	10	\$10,000
$(\$25 \times 10) + (\$50 \times 5) + (\$100 \times 5)$	\$1,000	10	\$10,000
\$500 DBL	\$1,000 \$1,000	10	\$10,000
\$100 x 10	\$1,000 \$1,000	10	\$10,000
\$5,000	\$1,000 \$5,000	5	\$25,000
(\$500 x 6) + (\$1,000 x 2)	\$5,000 \$5,000	5	\$25,000
\$25,000	. ,	5	\$125,000
' '	\$25,000 \$24,287	3	\$125,000 \$24,287
Players Loyalty Program	\$24,287 TOTAL	211,955	\$24,287 \$2,428,787
	IOIAL	211,933	\$4,440,787

- (j) The odds of winning a prize in this game are approximately one in 3.54. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-8-21-19, July 10, 2019.)
- 111-4-3580. "Wheel of Fortune" instant ticket lottery game number 108. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Wheel of Fortune." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3580.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN

19	NINTN
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
Symbol of a moneybag	WIN
2X (outlined)	WIN2X
Prize Symbols	Captions
FREE	\$5TICKET
\$5 <sup>.00</sup>	FIVE\$

**SEVTN** 

**EGHTN** 

17

18

Prize Symbols	Captions
FREE	\$5TICKET
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
\$15.00	FIFTN\$
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$25,000	TWNFVTHO

Play Symbols – \$25 and \$50 Bonus	Captions
Symbol of a crown	CROWN
Symbol of a diamond	DIAMND
Symbol of a gold bar	GOLD
Symbol of a key	KEY
Symbol of a vault door handle	VAULT
Symbol of a star	WIN \$25
Symbol of a star	WIN \$50

- (c) For this game, a play/prize symbol shall appear in 46 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Wheel of Fortune" is a key number match game with instant reveal, two bonus areas, and multiplier features. The player will scratch the play area to reveal four "WIN-NING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a symbol of a moneybag, the player wins the prize amount (continued)

shown below the moneybag symbol. If the player reveals a "2X" symbol, the player wins two times the prize amount shown below the "2X" symbol. The ticket will also have two bonus play areas, a "\$25 BONUS" and a "\$50 BONUS". The player will scratch both bonus areas. If the player reveals a symbol of a star, the player automatically wins the prize shown for that area.

- (g) Each ticket in this game may win up to 22 times.
- (h) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 120,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$5 Ticket	Free \$5 Ticket	48,000	\$0
\$5	\$5	60,000	\$300,000
\$10	\$10	12,000	\$120,000
\$5 (2X)	\$10	24,000	\$240,000
\$15	\$15	6,000	\$90,000
\$5 x 3	\$15	6,000	\$90,000
\$5 (2X) + \$5	\$15	12,000	\$180,000
\$25	\$25	3,000	\$75,000
\$25 BONUS	\$25	6,000	\$150,000
\$10 (2X) + \$5	\$25	6,000	\$150,000
\$5 x 5	\$25	3,000	\$75,000
\$50	\$50	300	\$15,000
\$50 BONUS	\$50	2,400	\$120,000
\$10(2X) + (\$5 x 4) + \$10	\$50	1,800	\$90,000
\$5 x 5 + \$25 BONUS	\$50	1,500	\$75,000
\$100	\$100	600	\$60,000
(\$5 (2X) x 2) + \$5 + \$25 BONUS + \$50 BONUS	\$100	900	\$90,000
$($25 \times 2) + ($5 \times 10)$	\$100	600	\$60,000
\$5 x 5 + \$25 BONUS +	φ100	000	\$00,000
\$50 BONUS	\$100	900	\$90,000
\$500	\$500	6	\$3,000
(\$5 (2X) x 10) + (\$10 (2X) x 5) + (\$25 (2X) x 2) + (\$50 x 2) + \$25 + \$25 BONUS + \$50 BONUS	)	22	\$11,000
(\$25 x 10) + \$50 (2X) + \$100 + \$50 BONUS	\$500	12	\$6,000
(\$25 x 3) + (\$50 (2X) x 3) + (\$10 (2X) x 5) + \$25 BONUS	\$500	10	\$5,000
\$25,000	\$25,000	6	\$150,000
PLAYER LOYALTY PROGR		, and the second	\$38,600
WOF GRAND PRIZES			\$35,748
TOTAL PRIZES			\$2,319,348

- (j) The odds of winning a prize in this game are approximately one in 3.69. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-8-21-19, July 10, 2019.)
- **111-4-3581.** "Block-O" instant ticket lottery game number 140. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Block-O." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3581.
- (b) The "play symbols," "prize box symbols," and "captions" for this game are as follows:

	They Symbols													
01	02	03	04	05	06	07	08	09	10	11	12	13	14	15
16	17	18	19	20	21	22	23	24	25	26	27	28	29	30
31	32	33	34	35	36	37	38	39	40	41	42	43	44	45
46	47	48	49	50	51	52	53	54	55	56	57	58	59	60
61	62	63	64	65	66	67	68	69	70	71	72	73	74	75
FRI	EΕ													

Play Symbols

Prize Box Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
\$25 <sup>.00</sup>	TWENFIV
$$40^{.00}$	FORTY
\$50.00	FIFTY
\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$15,000	15-THOU

- (c) For this game, a play/prize symbol shall appear in 86 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 099.
- (e) The price of instant tickets sold by a retailer for this game shall be \$3.00 each.
- (f) "Block-O" consists of the following two play areas: "YOUR BLOCK NUMBERS" containing 26 numbers covered in opaque latex; and, "BLOCK GRID" containing a variable combination of 54 numbers and "FREE" spaces covered in translucent latex and six (6) "PRIZE" amounts covered in opaque latex. Each "PRIZE" amount will be contained within a prize box that consists of fourteen (14) numbers and/or "FREE" spaces. The player will scratch the "YOUR BLOCK NUMBERS" play area to reveal all 26 numbers. For each number revealed in "YOUR BLOCK NUMBERS" the player will find the corresponding number in the "BLOCK GRID" play area and scratch only that number. The player will continue the process until all of the "YOUR BLOCK NUMBERS" and the corresponding number locations on the "BLOCK GRID" have been revealed. The player will also scratch all "FREE" spaces. If a player completely reveals all fourteen (14) of the corresponding numbers and free spaces surrounding a prize box, the player shall scratch the latex on "PRIZE" within that prize box and win the prize shown.
  - (g) Each ticket in this game may win up to 3 times.
- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$3 Ticket	Free Ticket	108,000	\$0
\$5	\$5	36,000	\$180,000
\$10	\$10	18,000	\$180,000
\$5 x 2	\$10	18,000	\$180,000

\$20	\$20	4,500	\$90,000
\$10 x 2	\$20	4,500	\$90,000
\$10 + (\$5 x 2)	\$20	9,000	\$180,000
\$25	\$25	3,000	\$75,000
\$20 + \$5	\$25	3,000	\$75,000
(\$10 x 2) + \$5	\$25	3,000	\$75,000
\$40	\$40	1,500	\$60,000
\$25 + \$10 + \$5	\$40	1,500	\$60,000
\$20 x 2	\$40	1,500	\$60,000
\$50	\$50	375	\$18,750
\$40 + \$10	\$50	525	\$26,250
\$25 + \$20 + \$5	\$50	525	\$26,250
\$25 x 2	\$50	375	\$18,750
\$100	\$100	150	\$15,000
\$50 x 2	\$100	150	\$15,000
(\$40 x 2) + \$20	\$100	75	\$7,500
\$50 + \$40 + \$10	\$100	75	\$7,500
\$500	\$500	30	\$15,000
\$1000	\$1,000	20	\$20,000
\$15,000	\$15,000	4	\$60,000
		213,804	\$1,535,000
Player Loyalty Program			\$15,000
		213,804	\$1,550,000

- (j) The odds of winning a prize in this game are approximately one in 4.21. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-8-21-19, July 10, 2019.)
- **111-4-3582.** "Lucky Lines" instant ticket lottery game number 118. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Lucky Lines." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3582.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of an apple	APPLE
Symbol of a key	KEY
Symbol of a bell	BELL
Symbol of a lemon	LEMON
Symbol of a stack of money	BILLS
Symbol of a padlock	LOCK
Symbol of a bracelet	BRCLET
Symbol of a moneybag	MNYBAG
Symbol of a cherry	CHERRY
Symbol of a moon	MOON
Symbol of a coin	COIN
Symbol of a necklace	NCKLCE
Symbol of a crown	CROWN
Symbol of a pearl	PEARL
Symbol of a daisy	DAISY
Symbol of a pineapple	PNAPLE
Symbol of a diamond	DIAMND
Symbol of a pot of gold	POT
Symbol of a pair of dice	DICE
Symbol of a rainbow	RAINBW
Symbol of an emerald	<b>EMRALD</b>
Symbol of a ring	RING
Symbol of a gift	GIFT

Symbol of a safe	SAFE
Symbol of a gold bar	BAR
Symbol of a sapphire	SAPHIR
Symbol of grapes	GRAPES
Symbol of a number seven	SEVEN
Symbol of a heart	HEART
Symbol of star	STAR
Symbol of a horn of plenty	HORN
Symbol of a strawberry	STRWBY
Symbol of an amethyst	AMTYST
Symbol of a sun	SUN
<b>Bonus Area Prize Symbols</b>	Captions
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
25.00	TWEN-FIV
$50^{.00}$	FIFTY
75 <sup>.00</sup>	SVTYFIV
TRY	AGAIN
MAYBE	NEXT TIME

- (c) For this game, a play/prize symbol shall appear in 82 play spots within the play areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Lucky Lines" is a symbol match game with a bonus feature. The ticket consists of six play areas. The "YOUR SYMBOLS" play area is covered by opaque scratch-off material covering 20 play symbols. Five other (5) play areas are covered by a translucent scratch-off material and consist of 61 play symbols. The player will remove the scratch-off material covering "YOUR SYMBOLS" to reveal the 20 play symbols. The player will then find and scratch the corresponding identical play symbols in the five (5) play areas. The player will continue playing until all of the "YOUR SYMBOLS" and the corresponding identical play symbols in the (5) play areas have been scratched. If the player reveals all play symbols in a horizontal, vertical, or diagonal line in any of the five (5) play areas, the player wins the prize amount corresponding to that prize line. The player will remove the scratch-off material covering the "BONUS" area. If the player reveals a prize amount in the "BONUS" area, the player wins that prize amount.
  - (g) Each ticket in this game may win up to four times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per		
	Bonus	Prize	750,000	Prize Cost
\$5		\$5	65,000	\$325,000
	\$5	\$5	45,000	\$225,000
\$10		\$10	15,500	\$155,000
				(continued)

	\$10	\$10	15,750	\$157,500
\$5 + \$5		\$10	15,500	\$155,000
\$15		\$15	10,000	\$150,000
\$5 + \$10		\$15	10,000	\$150,000
	\$15	\$15	10,500	\$157,500
\$25		\$25	3,500	\$87,500
	\$25	\$25	4,000	\$100,000
\$5 + \$10	\$10	\$25	4,000	\$100,000
\$15 + \$10		\$25	3,500	\$87,500
\$50		\$50	1,000	\$50,000
	\$50	\$50	1,000	\$50,000
\$25	\$25	\$50	1,000	\$50,000
\$15 x 3	\$5	\$50	1,000	\$50,000
\$75		\$75	500	\$37,500
	\$75	\$75	750	\$56,250
$($25 \times 2) + $15 + $10$		\$75	750	\$56,250
\$50 + \$10	\$15	\$75	600	\$45,000
\$100		\$100	150	\$15,000
\$50 x 2		\$100	150	\$15,000
\$25 x 3	\$25	\$100	200	\$20,000
\$500		\$500	75	\$37,500
\$1,000		\$1,000	15	\$15,000
\$500 x 2		\$1,000	15	\$15,000
\$25,000		\$25,000	5	\$125,000
Players Loyalty Program		\$25,126		
		TOTAL	209,460	\$2,512,626

(j) The odds of winning a prize in this game are approximately one in 3.58. (Authorized by K.S.A. Supp. 74-8710; implementing K.S.A. Supp. 74-8710, and 74-8720; effective, T-111-8-21-19, July 10, 2019.)

# Article 17.—SPECIFIC ONLINE DRAWING RULES

# **111-17-37.** Cheer the Jayhawks on in New York City Drawing. (a) The Kansas Lottery may conduct a "Cheer the Jayhawks on in New York City" drawing awarding a trip prize package to one (1) winner. Entries into the drawing will be accepted beginning at 12:01 a.m. on August 1, 2019 and ending at 11:59 p.m. on September 23, 2019. The drawing will be conducted sometime after entry into the drawing has closed but before noon on September 27, 2019, at which time the winner will be announced.

- (b) A person shall enter the drawing through the Kansas Athletics social media channels and select the link specifically designated for this drawing.
- (c) One drawing will be conducted selecting one (1) winner of a trip prize package. The trip prize package shall include:
- (1) A trip for two (2) persons to the Champions Classic collegiate basketball tournament at Madison Square Garden in New York City, New York;
- (2) Round trip coach airfare from an airport and on an airline approved by the Kansas Lottery to New York City, New York;
- (3) \$250 Uber gift card for transportation to and from airport, hotel, and activity listed in (c)(5);
- (4) Four nights' hotel accommodations (double occupancy, room and tax only);
- (5) Two (2) tickets to the Kansas Jayhawks men's basketball game on Tuesday, November 5, 2019;
  - (6) \$1,000 cash; and,
- (7) State and federal mandatory income withholding taxes paid by the Kansas Lottery.

- (d) Six (6) entries shall be selected in the drawing. The first entry selected shall be the trip prize winner. The next five (5) entries selected in the drawing (numbers two through six) shall be used as alternate winners in the order drawn, if needed.
- (e) A person may enter as often as they wish for this drawing.
- (f) By entering the drawing, entrant agrees to all rules and regulations of the Kansas Lottery and "official rules."
- (g) The person who is selected as the trip prize winner in the drawing will be sent an email to the email address on their entry submission with a claim form attached, followed by the same documentation sent by U.S. mail. The winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered to the Kansas Lottery claims center, and the claim form must be received by the Kansas Lottery within seven (7) calendar days following the date the winners are announced. Failure to return the completed claim form in the allotted time shall result in the prize being awarded to an alternate winner. In the event an alternate winner is awarded a prize, that alternate winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered, and the claim form must be received by the Kansas Lottery within seven (7) calendar days following the date the alternate winner was sent a claim form electronically or another alternate will be selected until all alternates are exhausted. The Kansas Lottery is not responsible for electronic malfunction or player error.
- (h) The winner must travel by air on November 3, 2019, and November 7, 2019, or provide his or her own transportation to and/or from New York City.
- (i) The winner and guest must comply with all of the rules and regulations of the venues where the events are held. If the winner and/or guest behaves in a disorderly or disruptive manner or with intent to annoy, abuse, threaten, or harass any other person at any event, winner and/or guest may be removed from the venue or denied entry as determined by venue security or its designee(s) in their sole and absolute discretion.
- (j) By accepting any portion of the prize for which a ticket, voucher, certificate or pre-paid gift card is provided, winner must abide by any terms, conditions, and restrictions provided thereon. Lost, mutilated, or stolen tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.
- (k) The trip prize package is not transferrable or assignable without written consent of the Kansas Lottery. Before the original winner may transfer or assign a trip prize package, the original winner must complete the claim process for the prize and then designate the person to whom the prize will be transferred or assigned. Notwithstanding the foregoing, the cash award included in the trip prize package shall not be transferred or assigned and shall be paid to the original winner, and all state and federal mandatory income withholding taxes shall be paid in the name of, and on behalf of, the original winner. Prizes are not exchangeable for cash. The Kansas Lottery retains the right to substitute an alternate prize of approximate equal value.
- (l) In the event the trip prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

- (m) Each trip prize package is valued at approximately \$5,800.
- (n) All winners and guests shall release the Kansas Lottery from any liability for injuries sustained while redeeming any portion of the prize.
- (o) Submitting an entry into the drawing constitutes authorization to identify publicly the name of the person whose entry is drawn.
- (p) Rules applicable to this drawing are contained in K.A.R. 111-17-37. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-8-21-19, July 10, 2019.)

# Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

- **111-19-69.** Wheel of Fortune Promotion. (a) The Kansas Lottery may conduct a series of three "Wheel of Fortune" promotional drawings awarding a total of six cash prizes and two grand prize packages. Entries into the drawings will be accepted beginning at 12:01 a.m. on August 12, 2019. Entries into the first drawing will close at 11:59 p.m. on October 6, 2019 and the drawing will be conducted sometime after entry into the drawing has closed but before noon on October 10, 2019, at which time the winners will be announced. Entries into the second drawing will close at 11:59 p.m. on December 8, 2019 and the drawing will be conducted sometime after entry into the drawing has closed but before noon on December 12, 2019, at which time the winners will be announced. Entries into the third drawing will close at 11:59 p.m. on February 10, 2020 and the drawing will be conducted sometime after entry into the drawing has closed but before noon on February 13, 2020, at which time the winners will be announced.
- (b) The specific ticket eligible for entry into this drawing shall be non-winning \$5 "Wheel of Fortune" game number 108.
- (c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at www.kslottery. com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Wheel of Fortune" promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each non-winning ticket submitted into the second-chance drawing.
- (d) In the first and second drawings three winners will each receive a \$2,500 cash prize. Winners are responsible for state and federal income taxes.
- (e) In the third drawing the first two winners selected will each receive a grand prize package. Each grand prize package shall include:
- (1) Round trip coach airfare for two (2) from an airport and on an airline approved by The Kansas Lottery to Los Angeles, California;
  - (2) Ground transportation to and from the airport, ho-

- tel, and activities listed in (e)(4), (6), and (7) while in Los Angeles;
- (3) Three nights' hotel accommodations (double occupancy, room and tax only);
  - (4) Tour of Sony Studios;
  - (5) A bus tour of Hollywood, California;
- (6) Two (2) studio audience tickets to a taping of the Wheel of Fortune television show;
- (7) Two (2) tickets to one (1) event, where the grand prize winner will spin the Wheel of Fortune wheel and have a chance to win a cash prize from \$1,000 up to \$1,000,000;
  - (8) \$500 cash;
- (9) State and federal mandatory income withholding taxes paid by the Kansas Lottery on the grand prize package, except that the winner shall be responsible for the payment of all taxes on any prize won pursuant to (e) (7); and,
- (10) Each grand prize package is valued at approximately \$5,634.00.
- (f) There is no limit on the number of non-winning tickets a person may enter, but a person may win only once per drawing.
- (g) Any entry that is not selected in a previous drawing or one that is selected as an alternate in a previous drawing, but not used as a winner, shall be eligible to win a prize in any subsequent drawing for this promotion.
- (h) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except that in this promotion the 10-day deadline for the first eight (8) winners to return their claim forms shall commence with the date of the announcement of winners.
- (i) Only registered PlayOn members may enter the "Wheel of Fortune" promotion. PlayOn members must enter themselves into the drawings according to the requirements of the terms and conditions of the PlayOn program. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (j) By entering the promotion, entrant agrees to PlayOn terms and conditions.
- (k) The winner must travel by air on April 13, 2020 and April 16, 2020.
- (l) In the event the trip portion of the grand prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.
- (m) All winners and guests shall release the Kansas Lottery from any liability for injuries sustained while redeeming any portion of the prize.
- (n) Submitting an entry into the drawing constitutes authorization to identify publicly the name of the person whose entry is drawn.
- (o) Rules applicable to this promotion are contained in K.A.R. 111-19-69 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-8-21-19, July 10, 2019.)
- **111-19-70.** Holiday Cash Bonus Drawing. (a) The Kansas Lottery may conduct a drawing entitled "Holiday Cash Bonus Drawing" in which four (4) Kansas Lottery players will each win \$5,000. The Kansas Lottery will accept entries into the drawing beginning at 12:01 a.m. on (continued)

(continued)

September 1, 2019. Entry deadline for the drawing will be at 11:59 p.m. on November 30, 2019. The drawing will be conducted sometime after entry into the drawing has closed but before noon on December 5, 2019, at which time the winners will be announced.

- (b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.
- (c) A total of 600 player loyalty club points are required for a PlayOn member to enter once in the drawing.
- (d) In the drawing, the first four (4) players selected will receive \$5,000.
- (e) A player may enter the drawing as many times as his or her points allow, but may win only one prize in this drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except:

- (1) In this promotion all 10-day deadlines set forth in K.A.R. 111-18-5(n) shall be 14-day deadlines; and,
- (2) In this promotion the 14-day deadline for the first four (4) winners to return their claim forms shall commence with the date of the announcement of winners.
- (g) By entering the drawing, each player agrees to Play-On terms and conditions.
- (h) Submitting an entry into the drawing constitutes authorization to identify publicly the name of the person whose entry is drawn.
  - (i) All taxes are the responsibility of the winners.

30-4-40

30-4-41

30-4-50

Reg. No.

(j) Rules applicable to this online event drawing are contained in K.A.R. 111-19-70 and K.A.R. 111-18-1 et seq. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-8-21-19, July 10, 2019.)

> Stephen Durrell **Executive Director**

> > V. 38, p. 404

V. 38, p. 404

Register

Doc. No. 047437

V. 38, p. 773

V. 38, p. 773

V. 38, p. 1025

V. 38, p. 1025 V. 38, p. 1025

#### INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2019 Supplement of the Kansas Administrative Regulations. Regulations can also be found at http://www.sos. ks.gov/pubs/pubs\_kar.aspx.

#### **AGENCY 4: DEPARTMENT OF AGRICULTURE**

Reg. No.	Action	Register
4-34-1	New	V. 38, p. 57
4-34-2	New	V. 38, p. 58
4-34-3	New	V. 38, p. 58
4-34-4	New	V. 38, p. 59
4-34-5	New	V. 38, p. 59
4-34-6	New	V. 38, p. 61
4-34-7	New	V. 38, p. 62
4-34-8	New	V. 38, p. 62
4-34-9	New	V. 38, p. 63
4-34-10	New	V. 38, p. 64
4-34-11	New	V. 38, p. 64
4-34-12	New	V. 38, p. 64
4-34-13	New	V. 38, p. 65
4-34-14	New	V. 38, p. 65
4-34-15	New	V. 38, p. 66
4-34-16	New	V. 38, p. 66
4-34-17	New	V. 38, p. 67
4-34-18	New	V. 38, p. 67
4-34-19	New	V. 38, p. 68
4-34-20	New	V. 38, p. 68
4-34-21	New	V. 38, p. 70

_		-			,	Γ.
A	GENCY 7	<b>7:</b>	SECRETARY	OF	STAT	E

Reg. No.	Action	Register
7-47-1	New (T)	V 38. p. 855

#### **AGENCY 9: DEPARTMENT OF** AGRICULTURE-DIVISION OF ANIMAL HEALTH Action Reg. No. Register

10-23-3

10-23-4

28-55-3

28-55-4

28-55-5

9-18-6 9-18-9 9-18-28	Amended Amended Amended	V. 38, p. 55 V. 38, p. 56 V. 38, p. 56	
AGENCY 10: KANSAS BUREAU OF INVESTIGATION			
<b>Reg. No.</b> 10-23-1 10-23-2	<b>Action</b> New New	<b>Register</b> V. 38, p. 773 V. 38, p. 773	

New

New

#### 10-23-5 New V. 38, p. 773 10-23-6 New V. 38, p. 773 AGENCY 14: DEPARTMENT OF REVENUE-DIVISION OF

Reg. No.	Action	Register
14-6-4	Revoked (T)	V. 38, p. 856
ACENIC	VAC. ATTORNEY	CENIEDAI

ALCOHOLIC BEVERAGE CONTROL

#### AGENCY 16: ATTORNEY GENERAL Reg. No. Action Register

16-18-1	New	V. 38, p. 856
16-18-2	New	V. 38, p. 856
16-18-3	New	V. 38, p. 857
	: DEPARTMEN ID ENVIRON!	NT OF HEALTH MENT
Reg. No.	Action	Register
28-1-20	Amended	V. 38, p. 924
28-35-146a	Amended	V. 38, p. 130
28-35-147a	Amended	V. 38, p. 130
28-55-1	Revoked	V. 38, p. 1024
28-55-2	Revoked	V. 38, p. 1024

# AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

Revoked

Revoked

Revoked

Keg. No.	Action	Kegister
30-4-34	Amended	V. 38, p. 403
30-4-35	Amended	V. 38, p. 403
30-4-36	Amended	V. 38, p. 403

# V. 38, p. 403 Amended

		,
30-4-51	Amended	V. 38, p. 405
30-4-54	Amended	V. 38, p. 405
30-4-64	Amended	V. 38, p. 406
30-4-90	Revoked	V. 38, p. 407
30-4-98	Amended	V. 38, p. 407
30-4-100	Amended	V. 38, p. 407
30-4-107	Amended	V. 38, p. 408
30-4-109	Amended	V. 38, p. 408
30-4-111	Amended	V. 38, p. 409
30-4-113	Amended	V. 38, p. 409
30-4-120	Revoked	V. 38, p. 410
30-4-130	Amended	V. 38, p. 410
30-4-140	Amended	V. 38, p. 412
30-46-10	Amended	V. 38, p. 128
30-46-13	Amended	V. 38, p. 128
30-46-15	Amended	V. 38, p. 129
30-46-17	Amended	V. 38, p. 129

Amended

Amended

#### **AGENCY 47: DEPARTMENT OF** HEALTH AND ENVIRONMENT-MINED-LAND CONSERVATION AND RECLAMATION

Action

U		U
47-2-75	Amended	V. 38, p. 84
47-3-1	Amended	V. 38, p. 86
47-3-2	Amended	V. 38, p. 86
47-3-42	Amended	V. 38, p. 86
47-5-5a	Amended	V. 38, p. 90
47-6-1	Amended	V. 38, p. 93
47-6-2	Amended	V. 38, p. 93
47-6-3	Amended	V. 38, p. 94
47-6-4	Amended	V. 38, p. 94
47-6-6	Amended	V. 38, p. 94
47-6-8	Amended	V. 38, p. 94
47-6-9	Amended	V. 38, p. 95
47-6-10	Amended	V. 38, p. 95
47-6-11	Amended	V. 38, p. 95
47-7-2	Amended	V. 38, p. 96
47-8-9	Amended	V. 38, p. 96
47-9-1	Amended	V. 38, p. 97
47-9-4	Amended	V. 38, p. 103
47-10-1	Amended	V. 38, p. 103
47-11-8	Amended	V. 38, p. 105
47-12-4	Amended	V. 38, p. 105
47-13-4	Amended	V. 38, p. 106

47-14-7	Amended	V. 38, p. 107	82-4-57	Amended	V. 38, p. 896	be found in	the Vol. 28, No	o. 53, December
47-15-1a	Amended	V. 38, p. 107	82-4-58d	Amended	V. 38, p. 896			st of regulations
47-16-6	Amended	V. 38, p. 108	82-4-63	Amended	V. 38, p. 896	filed from L	December 1, 200	09, through De-
47-16-9	Amended	V. 38, p. 108	82-4-65	Amended	V. 38, p. 896	cember 21, 20	011, can be four	nd in the Vol. 30,
47-16-10	Amended	V. 38, p. 108	82-4-66	Revoked	V. 38, p. 897			Kansas Register.
47-16-12	Amended	V. 38, p. 109	82-4-68	Amended	V. 38, p. 897	A list of reg	gulations filed	from December
47-16-13	New	V. 38, p. 109	82-4-85	Amended	V. 38, p. 897	22, 2011, thre	ough Novembe	r 6, 2013, can be
		-	82-4-86	Revoked	V. 38, p. 898		· .	2, December 26,
AGEN	CY 51: DEPART	MENT OF	02-4-00 Revoked v. 50, p. 696		v. 50, p. 656			
LABOR -	-DIVISION OF	WORKERS	<b>AGENCY 86: REAL ESTATE</b>					t of regulations
LIIDOK						filed from N	Jovember 7, 20	13, through De-
	COMPENSATION	JN		COMMISSIO	IN .	cember 31 2	015 can be four	nd in the Vol. 34,
Dag Ma	A ation	Dogistan	Pag No Astion Posiston					
Reg. No.	Action	Register	Reg. No. Action Register					Kansas Register.
51-9-7	Amended	V. 38, p. 231	86-1-11	Amended (T)	V. 38, p. 855	A list of regu	ılations filed fro	m 2016 through
51-9-17	Amended	V. 38, p. 212	• • • • • • • • • • • • • • • • • • • •			2017, can be found in the Vol. 36, No. 52,		
01 ) 1,	- mineriaea	7. 00, p. 212	AGENCY 100: BOARD OF			December 28, 2017 Kansas Register.		
AC	GENCY 60: BOAL	RD OF		HEALING ART	ΓS	December 28	s, 2017 Kansas i	tegister.
	NURSING							
	NURSING		Reg. No.	Action	Register	Reg. No.	Action	Register
Reg. No.	Action	Register	100-11-1	Amended	V. 38, p. 344	111-2-325	New	V. 37, p. 1192
		•						
60-4-101	Amended	V. 38, p. 545	100-28a-14	Amended	V. 38, p. 184	111-2-326	New	V. 37, p. 1192
	ENION CO DO LI	ND OF	100-76-2	Amended	V. 38, p. 184	111-4-877	Amended	V. 38, p. 925
AC	GENCY 63: BOAI	KD OF	100-77-1	New (T)	V. 38, p. 8	111-4-878	Amended	V. 38, p. 925
	MORTUARY AI	RTS		` '				
			100-77-1	New	V. 38, p. 447	111-4-880	Amended	V. 38, p. 925
Reg. No.	Action	Register	100-77-2	New (T)	V. 38, p. 8	111-4-881	Amended	V. 38, p. 926
63-5-3	New	V. 38, p. 183	100-77-2	New	V. 38, p. 448	111-4-3507	Amended	V. 37, p. 127
00 0 0	11011	v. 66, p. 166						
AC	SENCY 66: BOAL	RD OF	100-77-3	New (T)	V. 38, p. 8	111-4-3508	New	V. 37, p. 132
			100-77-3	New	V. 38, p. 448	111-4-3509	New	V. 37, p. 132
TECI	HNICAL PROFE	551UN5			. 1	111-4-3510	New	V. 37, p. 215
D N-	A -12	Danista	AGENCY 1	02: BEHAVIOR	AL SCIENCES			
Reg. No.	Action	Register	RF	GULATORY BO	DARD	111-4-3511	New	V. 37, p. 216
66-7-4	New	V. 38, p. 989	KL	GCEATION DC	) IND	111-4-3512	New	V. 37, p. 217
66-9-7	Amended	V. 38, p. 622	Reg. No.	Action	Register	111-4-3513	New	V. 37, p. 247
66-10-1	Amended	V. 38, p. 622	102-1-13	Amended	V. 38, p. 185	111-4-3514	New	V. 37, p. 248
66-10-3	Amended	V. 38, p. 622	102-1-18	Amended	V. 38, p. 212	111-4-3515	New	V. 37, p. 249
			102-2-3	Amended	V. 38, p. 185	111-4-3516	New	V. 37, p. 439
AGENCY	68: BOARD OF	PHARMACY						
			102-2-14	Amended	V. 38, p. 212	111-4-3517	New	V. 37, p. 440
Reg. No.	Action	Register	102-3-2	Amended	V. 38, p. 185	111-4-3518	New	V. 37, p. 442
68-11-1	Amended	V. 38, p. 541	102-3-15	Amended	V. 38, p. 212	111-4-3519	New	V. 37, p. 443
68-11-2	Amended	V. 38, p. 541	102-4-2				New	
00-11-2	Amended	v. 36, p. 341		Amended	V. 38, p. 186	111-4-3520		V. 37, p. 444
AGENCY 69: BOARD OF		102-4-15	Amended	V. 38, p. 212	111-4-3521	New	V. 37, p. 614	
AG			102-5-2	Amended	V. 38, p. 186	111-4-3522	New	V. 37, p. 615
	COSMETOLO	σY	102-5-14	Amended	V. 38, p. 212	111-4-3523	New	V. 37, p. 616
D 17		ъ						
Reg. No.	Action	Register	102-7-2	Amended	V. 38, p. 186	111-4-3524	New	V. 37, p. 617
69-1-10	New	V. 38, p. 84	102-7-12	Amended	V. 38, p. 212	111-4-3525	New	V. 37, p. 618
		-				111-4-3526	New	V. 37, p. 660
AGENCY	' 82: STATE COF	PORATION	AG	ENCY 105: BOA	RD OF			
	COMMISSIO	N	INDIGE	NTS' DEFENSE	SERVICES	111-4-3527	New	V. 37, p. 661
	COMMISSIO	•	INDIGE	THIS DELETION	BERVICES	111-4-3528	New	V. 37, p. 662
Reg. No.	Action	Register	Reg. No.	Action	Register	111-4-3529	New	V. 37, p. 693
82-4-1	Amended	V. 38, p. 875	105-5-2	Amended	V. 38, p. 367	111-4-3530	New	V. 37, p. 694
82-4-2a	Amended	V. 38, p. 876	105-5-3	Amended	V. 38, p. 367	111-4-3531	New	V. 37, p. 695
82-4-3b	Amended	V. 38, p. 876	105-5-6	Amended	V. 38, p. 367	111-4-3532	New	V. 37, p. 697
82-4-3c	Amended	V 28 p 877	105-5-7	Amended	V. 38, p. 368	111-4-3533	New	V 27 p 609
		V. 38, p. 877						V. 37, p. 698
82-4-3d	Amended	V. 38, p. 878	105-5-8	Amended	V. 38, p. 368	111-4-3534	New	V. 37, p. 776
82-4-3f	Amended	V. 38, p. 879	105-5-11	Revoked	V. 38, p. 368	111-4-3535	New	V. 37, p. 776
82-4-3g	Amended	V. 38, p. 882			, r	111-4-3536	New	V. 37, p. 777
Ų			AG	ENCY 109: BOA	RD OF			
82-4-3h	Amended	V. 38, p. 885	EMERGE	ENCY MEDICAL	SERVICES	111-4-3537	New	V. 37, p. 980
82-4-3i	Amended	V. 38, p. 886	LIMEROL			111-4-3538	New	V. 37, p. 982
82-4-3j	Amended	V. 38, p. 888	Reg. No.	Action	Register	111-4-3539	New	V. 37, p. 983
82-4-3k								
	Amended	V. 38, p. 888	109-5-1	Amended	V. 38, p. 153	111-4-3540	New	V. 37, p. 984
82-4-31	Amended	V. 38, p. 889	109-8-1	Amended	V. 38, p. 153	111-4-3541	New	V. 37, p. 985
82-4-3m	Amended	V. 38, p. 891	109-8-2	Amended	V. 38, p. 154	111-4-3542	New	V. 37, p. 1166
82-4-3n		V 28 p 801						
	Amended	V. 38, p. 891	109-11-6a	Amended	V. 38, p. 154	111-4-3543	New	V. 37, p. 1167
82-4-3o	Amended	V. 38, p. 892	ACENIC	V 111. I/ A NIC A C	LOTTEDV	111-4-3544	New	V. 37, p. 1168
82-4-20	Amended	V. 38, p. 892	AGENC	Y 111: KANSAS	LOTTERT	111-4-3545	New	V. 37, p. 1169
82-4-21	Amended	V. 38, p. 893	Δ comple	te index listing	all regulations	111-4-3546	New	V. 37, p. 1083
				0	. 0			
82-4-22	Amended	V. 38, p. 893		e Kansas Lotte		111-4-3547	Amended	V. 38, p. 926
82-4-24a	Amended	V. 38, p. 893	through 200	0 can be found	in the Vol. 19,	111-4-3548	New	V. 38, p. 283
82-4-27	Amended	V. 38, p. 893		ember 28, 2000		111-4-3549	New	V. 38, p. 284
82-4-30a	Amended	V. 38, p. 894		ılations filed froi	<u>.</u> .	111-4-3550	New	V. 38, p. 285
82-4-40	Revoked	V. 38, p. 894	2003 can be	found in the V	ol. 22, No. 52,	111-4-3551	New	V. 38, p. 286
82-4-42	Amended	V. 38, p. 894		5, 2003 Kansas R		111-4-3552	New	V. 38, p. 287
82-4-46	Revoked				· .			
		V. 38, p. 894	·	filed from 2004	O	111-4-3553	New	V. 38, p. 289
82-4-48	Amended	V. 38, p. 894	can be found	d in the Vol. 24, 1	No. 52, Decem-	111-4-3554	New	V. 38, p. 292
82-4-48a	Revoked	V. 38, p. 895	ber 29, 2005	Kansas Register.	A list of regu-	111-4-3555	New	V. 38, p. 320
82-4-50	Amended	V. 38, p. 895		from 2006 throu		111-4-3556	New	V. 38, p. 321
82-4-51	Amended	V. 38, p. 895	tound in the	e Vol. 26, No. 52	., December 27,	111-4-3557	New	V. 38, p. 577
82-4-53	Amended	V. 38, p. 895	2007 Kansas	Register. A list	of regulations	111-4-3558	New	V. 38, p. 578
82-4-56a	Amended	V. 38, p. 895		008 through Nov		111-4-3559	New	V. 38, p. 579
o <u>−</u> ± 00a	1 1111C11CCC	p. 675	111CG 11O111 ZC	unougninov	carreer 2007 carr	111 1 0000	1 40 44	1.00, p. 01)

					8-344-			
111-4-3560	New	V. 38, p. 580	111-19-35	New	V. 37, p. 622	111-401-240	New	V. 37, p. 667
111-4-3561	New	V. 38, p. 582	111-19-36	New	V. 37, p. 622 V. 37, p. 622	111-401-240	New	V. 37, p. 667 V. 37, p. 667
111-4-3562	New	V. 38, p. 622	111-19-37	New	V. 37, p. 622	111-401-242	New	V. 37, p. 667
111-4-3563	New	V. 38, p. 623	111-19-38	New	V. 37, p. 623	111-401-243	New	V. 37, p. 667
111-4-3564	New	V. 38, p. 624	111-19-39	New	V. 37, p. 623	111-401-244	New	V. 37, p. 668
111-4-3565	New	V. 38, p. 625	111-19-40	New	V. 37, p. 624	111-401-245	New	V. 37, p. 668
111-4-3566	New	V. 38, p. 626	111-19-41	New	V. 37, p. 624	111-401-246	New	V. 37, p. 669
111-4-3567	New	V. 38, p. 627	111-19-42	New	V. 37, p. 625	111-401-247	New	V. 37, p. 779
111-4-3568	New	V. 38, p. 628	111-19-43	New	V. 37, p. 252	111-401-248	New	V. 37, p. 779
111-4-3569	New	V. 38, p. 629	111-19-44	New	V. 37, p. 665	111-401-249	New	V. 37, p. 779
111-4-3570	New	V. 38, p. 630	111-19-45	New	V. 37, p. 778	111-401-250	New	V. 37, p. 780
111-4-3571	New	V. 38, p. 632	111-19-46	New	V. 37, p. 990	111-401-251	New	V .37, p. 780
111-4-3572	New	V. 38, p. 633	111-19-47	New	V. 37, p. 1084	111-401-252	New	V. 37, p. 781
111-4-3573	New	V. 38, p. 927	111-19-48	New	V. 38, p. 176	111-501-3	Amended	V. 38, p. 638
111-4-3574	New	V. 38, p. 928	111-19-49	New	V. 38, p. 177	111-501-24	Amended	V. 37, p. 256
111-4-3575	New	V. 38, p. 929	111-19-50	New	V. 38, p. 294	111-501-25	Amended	V. 37, p. 257
111-4-3576	New	V. 38, p. 930	111-19-51	New	V. 38, p. 295	111-501-44	Amended	V. 37, p. 1174
111-5-80	Amended	V. 37, p. 218	111-19-52	New	V. 38, p. 583	111-501-45	Amended	V. 37, p. 783
111-5-81	Amended	V. 37, p. 219	111-19-53	New	V. 38, p. 584	111-501-101	Amended	V. 37, p. 1085
111-5-82 111-5-83	Amended Amended	V. 37, p. 220	111-19-54	New	V. 38, p. 585	111-501-141	Amended	V. 37, p. 1037
111-5-84	Amended	V. 37, p. 221 V. 37, p. 221	111-19-55 111-19-56	New New	V. 38, p. 585 V. 38, p. 585	111-501-142	Amended	V. 37, p. 258
111-5-85	Amended	V. 37, p. 221 V. 37, p. 221	111-19-56	New	V. 38, p. 585 V. 38, p. 585	111-501-143	Amended	V. 37, p. 993
111-5-83	New	V. 37, p. 221 V. 37, p. 620	111-19-57	New	V. 38, p. 586	111-501-144	New	V. 37, p. 993
111-5-244	New	V. 38, p. 323	111-19-59	New	V. 38, p. 586	111-501-145	Amended	V. 38, p. 296
111-5-244	Amended	V. 37, p. 986	111-19-60	New	V. 38, p. 587	111-501-146	New	V. 37, p. 994
111-7-267	New	V. 37, p. 133	111-19-61	New	V. 38, p. 587	111-501-147	Amended	V. 38, p. 938
111-7-268	New	V. 37, p. 987	111-19-62	New	V. 38, p. 634	111-501-148	New	V. 38, p. 940
111-7-269	New	V. 37, p. 987	111-19-63	New	V. 38, p. 635	111-601-2	Amended	V. 38, p. 587
111-4-270	New	V. 37, p. 987	111-19-64	New	V. 38, p. 935	111-601-6	Amended	V. 38, p. 588
111-7-271	New	V. 37, p. 988	111-19-65	New	V. 38, p. 936	111-601-22	Amended	V. 37, p. 630
111-7-272	New	V. 37, p. 988	111-19-66	New	V. 38, p. 937	111-601-23	Amended	V. 37, p. 630
111-7-273	New	V. 37, p. 988	111-19-67	New	V. 38, p. 944	111-601-24	Amended	V. 37, p. 631
111-7-274	New	V. 37, p. 989	111-19-68	New	V. 38, p. 945	111-601-25	Amended	V. 37, p. 632
111-7-275	New	V. 37, p. 989	111-301-39	Amended	V. 37, p. 223	111-601-36	Amended	V. 38, p. 941
111-7-276	Amended	V. 38, p. 326	111-301-60	Amended	V. 38, p. 636	111-601-37	Amended	V. 38, p. 943
111-7-277	New	V. 38, p. 932	111-301-61	Amended	V. 38, p. 636	111-601-46 111-601-47	New New	V. 37, p. 632
111-9-218	New	V. 37, p. 251	111-301-62	Amended	V. 38, p. 637	111-601-47	Amended	V. 37, p. 632 V. 37, p. 1038
111-9-219	New	V. 37, p. 989	111-301-63	New	V. 37, p. 135	111-601-48	New	V. 37, p. 1038 V. 37, p. 633
111-9-220	New	V. 37, p. 1193	111-301-64	New	V. 37, p. 135	111-601-49	New	V. 37, p. 633 V. 37, p. 633
111-9-221	New	V. 38, p. 323	111-301-65	New	V. 37, p. 135			
111-9-222	New	V. 38, p. 324	111-301-66	New	V. 37, p. 136		Y 115: DEPAR	
111-15-1 111-15-2	Amended Amended	V. 38, p. 932	111-301-67 111-301-68	New	V. 37, p. 626	WILDLIF	E, PARKS AN	D TOURISM
111-15-2	Amended	V. 38, p. 932 V. 38, p. 933	111-301-68	Amended New	V. 37, p. 990	Reg. No.	Action	Register
111-15-5	Amended	V. 38, p. 934	111-301-09	Amended	V. 37, p. 626 V. 37, p. 991	115-2-1	Amended	V. 38, p. 368
111-15-6	Amended	V. 38, p. 934 V. 38, p. 934	111-301-70	Amended	V. 37, p. 991 V. 37, p. 991	115-2-3	Amended	V. 38, p. 370
111-15-8	Amended	V. 38, p. 935	111-302-2	Amended	V. 38, p. 178	115-2-4	Amended	V. 38, p. 371
111-15-21	Amended	V. 37, p. 1174	111-302-4	Amended	V. 37, p. 223	115-3-2	Amended	V. 38, p. 371
111-19-1	Amended	V. 38, p. 633	111-302-5	Amended	V. 38, p. 178	115-4-4	Amended	V. 38, p. 371
111-19-2	Amended	V. 38, p. 634	111-305-4	Amended	V. 38, p. 946	115-4-6b	Amended	V. 37, p. 723
111-19-11	Amended	V. 37, p. 251	111-305-6	Amended	V. 38, p. 946	115-4-11	Amended	V. 38, p. 372
111-19-26	New	V. 37, p. 134	111-401-6	Amended	V. 37, p. 253	115-5-1	Amended	V. 38, p. 541
111-19-27	New	V. 37, p. 222	111-401-11	Amended	V. 37, p. 254	115-5-2	Amended	V. 38, p. 542
111-19-28	New	V. 37, p. 222	111-401-15	Amended	V. 38, p. 324	115-5-4	Amended	V. 38, p. 542
111-19-29	New	V. 37, p. 620	111-401-17	Amended	V. 38, p. 325	115-6-1	Amended	V. 38, p. 543
111-19-30	New	V. 37, p. 620	111-401-35	Amended	V. 38, p. 326	115-8-1	Amended	V. 38, p. 543
111-19-31	New	V. 37, p. 620	111-401-63	Amended	V. 37, p. 445	115-9-5	Amended	V. 38, p. 375
111-19-32	New	V. 37, p. 621	111-401-109	Amended	V. 37, p. 628	115-11-2	Amended	V. 38, p. 127
111-19-33	New	V. 37, p. 621	111-401-117	Amended	V. 37, p. 254	115-13-4	Amended	V. 38, p. 544
111-19-34	New	V. 37, p. 621	111-401-208	Amended	V. 37, p. 1037	115-20-7	Amended	V. 38, p. 545

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594